BE-=70EHO Train Your Math

(1] KRB

(1) Y02 =R LT LORIEAT VL=

N EBOBERDEILL,

40

(3) ROKRITRINFBEAITEHBLLELL),

4 km 862 m = |4862| m

2 m 27 cm =|227|cm

@
@
® 8 cm | mm =] 8l |mm
@ 4194m = |4 km|194|m
® 434 cm = |4 |m | 34 |cm
® 85 mm = [8|cm| 5 |mm

SHENRE F3E

(2) RO2EOBNNEHERDILLY,

150 84

(4) R2->nHpEERLELL),

Hi[E
H| [

H=
HIEl

EXEl



(2] =72

(1) ROEBREMICHI 1 DEVWEAREMTAS
YU HEOREEIIRYET, ZDBFRICO%:
2FFLLY).—7AREISRY FEA,

OO

O

O

(3) RDOFEXFITOWTARN L 50, ma#f%e

L5A%DIFFEL LS.

) (2] (3)
O oA O
(4) (5) (6)
O O oA

(2) ROEDLXDODKEIE=KDILLD,

(4) ROLK %5 F<FH%E) (F1T - BE-1HF#45) LTE
hERr,. TORFIRYET EDLHITHEA
EbhErrL VW TLLEID,

4 4
A A




(3] BENLEZS

(1) 12D2RIE N EKDBLHFIFELEARIL (2) 2V FHBE2XEH LT ZAR I 2025212
B E RO ER SRV TELLD, LELLo

| | |
I 1 ]
R
| 1 I
| | | I
_______ P e S e e e e ]
I | |
| | |
|
5 . 1
1 1 1
I | |
——————— e e e e e ]
| | |
| | |
I |
i i i
I I I L — @D ! L )
——————— r | +
G <t | <1
"y gl | &
x.,m;
S
1

(3) ODOB@NE~—I7 D bD>DHEF| - 4> D% (4) 2900M. #300AFE->TW\FT, BITHEIcW
F-47 Oy ICENBLEICEEEIEDILL KLETYRE2ANDEFEIIRICICAHRSTLL
el 5%

@ Q3O BOFRE ROFRE
4 —

worm . B00REI

OOREORED,

@ @ @ @ 300 OO:_ | 900 OOFB
@ @ @ @ \— PiRED'E L 600 BICED —,




(4] 975327 nE

(1) A AB-C-D-ENEIEEETRLELL, (2) TROZOEMERDIL L,
I [
H A oA 8 | BA-TWBHEIC | §
5 EmicEoTE| 16 | EmyELE,
F
E
p| |O
o s
: v— \\ [ £
A 9
12<3>456789 //%q
o dh
@ (D, 2) A (H,5) 16 -

T 1. 5] o (A, 3)

(3) FTROEDIHIITRI— 05T —%,FT (4) ILOHNIIETHEZOREMASL. X

EDLE EWILDBNOBESITRBTLLD DEIGKRETITRBZTLLID,
%
FRMER DY EEE atoon| BYH (g#bvon| (RYEL H A B
. 15 6 51 | 15 | 21
BOEMR LR SIETEH&,
60E MU EBOB KBRS IETHTRN 2 |2 | 2
& EELL £ TRS
4 | 33 | 39
RE | TR | uE 5 | 39 | 45
A 6l BTAb m 6 | 45 | 51
B il BTAb
| () RYCEZE () ORDVET I
c 86 GEi
D 43 TEet
E 75 BF2h




